A=V T HRIX

G AN

- f1.3)

o o — N N J\
(A7) N 33%50°32.31", E 132°44°21.77" (fEm) TPA6.2Im  (WER) 30.00m (HEEHRE)  #E
BV R o | o | e 37’@?@%%%?&% g . I EAE L
l:lI N /X Mz
" . oW 2 B BN ] PR ) S
EIN a7 D B X ;j i > o A Kk|#&R A
. £ ety \\/ TN
Rl E|= R N e e w | | D | E H o[ | 5| B R
N i o = 7 $ﬁ( 'le e 1 L 2| m % | % m m
E 0
E 0 E
E— 3 z— 3
= -
E_ J ;— 5
E_ 6 ;— 6
3 1 TSRO~ B »
= 3
3 =
— 8 E
3 =
= 9 E
E_ 10 g— 10
E_ 1 g— 11
— 12 E
g_ 33.21] 13.00 i A5 R 7K §_ T
F— 13 —— - y ™ E
3 1 13.50] s o 13.00~15.90m BaEER@WEED) | CL | C [ IV [b~c| v | 2 0.8MPa 3
- 32.71| 13.50| sy S : 2
3 39,96 13_;5 e “.o.0 | 13.00~15.30m ALK~ PRI A FkE T2, 8§ | 0 100 ffljif;“gl 2
= U RaE = 13.95~14.20m, 14.70~14.90m Tk, fngrpn'qt 3
- | oatlzt SRR 3 T 12 ] 22100 12/4 e
= 5 | g001] a0l TN HRB (D100 15.30~15.90m R/ HBEEDEHNTLE (1~ v s | o 1100 1530 -39 =
3 3031 R/ K =— 2m) E
= o 0 e - e CMI Bl 2!l bl Bl 2 o7k F 10
3 21 7|15.90~19.57m i~ ALK 10 1 10 1100 0.2MPa 1L3-OF
= , ot BRI D IEF AR RO b, 11 60L/min 17.00 S
3 o [T MBS0 O 2B, TFEEO.8t e
= (Hte) W o5 16.90~17.10m, 17.80~18.97mIL LA, 12/] 221100 100~200rp _ "
§_ 27711 18.50 ‘ . 1850mi’(ii§ﬂﬂ H {/l:}[/ ‘@Jﬂﬂﬁ\ %‘%éﬂﬁﬁ: H }Lé—@ %_
N el Sk 7] 5, 18.80~10.5Tm A2 H B A 61019 1192/3 % . 21 “
— IX IR % g - E
E || 1047 | AR A CLI{C|IV|a]| a]2]|o|0 80| ygpgl™7 zk 3
= s | RemsEEE==19.57~20.40m fERk=T EHh B8 ngLfV/IPé = -
E A8 20 — M, EEAR, BB =05, 410 60| WL |5 =
= gy |EEHOLR WA0~2L50n STRERERSAE | | p |y | d | 8 | 2 ek Bl OE
— 2 RIK (R L g 0 L/min E
E 24.71] 21.50 — e LHEE, —H20em B AT, 0 |50 o ]
3 " s R g 97.5 | saion 2 =
; 2 23.63] 2258 PiIX %@E . ..: %ﬂﬂﬁ%%ﬁﬁé%ﬂTiﬁikTéo 5 0 100 mm 200rpm 2930 E_
3 — 3. 10mfh BAR0, B EN A HD, 12/6 =,
= ARIBTERNE S0 CL|C|IV|al| o] 2 23.40 |-4.2 -
E Em (thﬁi%t ;E,E N ﬂ—:ﬁ:\t—[g&ﬁnjﬂﬁ 571/ o 7 0 100 7];‘/7]\{7J( =
- AR PR 23.40~23.60m AIEJE (& 1~2em) ¢ 0.2MPa =
g_ u 21.81] 24.40 | BEITA40BRL v 5 0 100 60L/min 2
3 21.41] 24.80 p —_— 5 .
— 25 X | e 200rpm §_ ‘
3 ngg\ W ] 25.60~25.75m TEHED, v 51 0 [100 2162/270 y 3 )
E— % : : - 3
E 19.81] 26.40 ‘. _ 2
E | o] o B e Reieh, mmREE Rk, | CM | B | 2 | a | 8| 2 |10 |10 (100 i »
£ 2 . . L NEERAS R, ]]I 14 14 100 0.9MPa g_
3 | PR R S, 60L/min =
- pu || TR B ORI (05 L0 g
S T R e L R O v e ) - 610 1100 Al =
— 29 "0 28.60~30.00m 5 A IRBEE L ANETEEINLE B -
£ S 4 a B 2 12/8 E
3 | 5 CL 4| 0 ]100 ) 5
E 50 16.21] 30.00 oo v 30.00 | 4.7 E %




